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Question 1. Answer the given question according to the following information.
नीच ेद饠姿 गई सचुना के अनसुार 좔ｩदय ेगए 钧嗮शन का उ姩떐तर द饠姿िजय|े 
A * B means A is mother of B.
A * B का अथ脸먑 ह ैA, B कፄ갮 माता ह ै

A ­ B means A is son of B.
A ­ B का अथ脸먑 ह ैA, B का बटेा ह ै

A + B means A is daughter of B
A + B का अथ脸먑 ह,ै A, B कፄ갮 बटे饠姿 है

A ÷ B means A is sister of B.

A ÷ B का अथ脸먑 ह ैA, B कፄ갮 ब좔ｩहन ह ै

In the expression W + X * Y ÷ Z, how is W related to Z?
समीकरण W + X * Y ÷ Z म⊏㤘 W का Z स े忾ṙया स춀⌃ब呁䕚ध ह ै?
Options:
a) Mother
माता
b) Daughter
बटे饠姿
c) Sister
ब좔ｩहन
d) Son
बटेा
Correct Answer: Sister
ब좔ｩहन
Candidate Answer: Sister
ब좔ｩहन
 
Question 2. Answer the given question according to the following information.
नीच ेद饠姿 गई सचुना के अनसुार 좔ｩदय ेगए 钧嗮शन का उ姩떐तर द饠姿िजय|े 

A * B means A is mother of B. 
A * B का अथ脸먑 ह ैA, B कፄ갮 माता ह ै

A ­ B means A is son of B.
A ­ B का अथ脸먑 ह ैA, B का बटेा है

A + B means A is daughter of B.
A + B का अथ脸먑 ह ैA, B कፄ갮 बटे饠姿 ह ै

A ÷ B means A is sister of B.
A ÷ B का अथ脸먑 ह ैA, B कፄ갮 ब좔ｩहन है

Which of the following means "R is granddaughter of Q"? 
웦蚵न춀⌃ना롎कत म⊏㤘 स े롎कसका अथ脸먑 ह ैR, Q कፄ갮 쨕ꃖ홶镶डडॉटर ह ै?
Options:
a) R ÷ S ­ T + Q
b) R ­ S * T + Q
c) R + S ÷ T * Q
d) R * S ­ T + Q
Correct Answer: R ÷ S ­ T + Q
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Candidate Answer: R ÷ S ­ T + Q
 
Question 3. Which given figure will best represent the relationship among these three elements?
Elements: Quadrilateral, Square, Rectangle
द饠姿 गयी आकृ웦蚵तय좭 म⊏㤘 स ेकौन सी आकृ웦蚵त 좔ｩदय ेगए तीनो त姩떐व좭 के बीच के स춀⌃ब呁䕚ध को सह饠姿 钧嗮दდ씬श脸먑त करता ह?ै 
좔ｩदय ेगए त姩떐व: समचतभु脸ु먑ज, वग脸먑, आयत |
Options:
a) 

b) 

c) 

d) 

Correct Answer: 

Candidate Answer: 

 
Question 4. In the following question, choose the embedded/hidden figure given in the question figure from the answer figures.
웦蚵न춀⌃ना롎कत 钧嗮शन म⊏㤘 钧嗮शन आकृ웦蚵त म⊏㤘 द饠姿 गई 웦蚵न좔ｩहत आकृ웦蚵त को उ姩떐तर आकृ웦蚵त स ेच웦蚵नए|

Options:
a) 

b) 

c) 

d) 



Correct Answer: 

Candidate Answer: 

 
Question 5. From the given alternative words, select the word which cannot be formed using the letters of the given word.
좔ｩदए गए 왁ྕवकḆ겆प좭 म⊏㤘 स ेउस शⴭ垏द को च웦蚵नए जो 좔ｩदए गए शⴭ垏द के अ᠅㕀र좭 का 钧嗮योग करके, नह饠姿 ंबनाया जा सकता ह ै|

CHLOROPHYLL
Options:
a) POORLY
b) COLOR
c) COOLY
d) HIOLO
Correct Answer: HIOLO
Candidate Answer: HIOLO
 
Question 6. In the following question, three statements are given, followed by three conclusions. You have to consider the statements to be true even if they seem to
be at variance from commonly known facts. You have to decide which of the given conclusions, if any, follow from the given statements.
नीच ेतीन कथन 좔ｩदए गए ह홶镶,िजसके बाद तीन 웦蚵नṘꥇकष脸먑 좔ｩदए गए ह홶镶|आपको 좔ｩदए गए कथन좭 को सह饠姿 मानना ह ै롎फर चाह ेवह सव脸먑왁ྕव좔ｩदत त�य स ेდ씬भ呁䕚न 忾ṙय좭 न ह좭|आपको 웦蚵नण脸먑य लनेा ह ै롎क 좔ｩदए गए
웦蚵नṘꥇकष譵흺 म⊏㤘 स ेकौन­सा 웦蚵नṘꥇकष脸먑 कथन좭 का अनसुरण करता ह|ै

Statement:
कथन

Some birds are trees
कुछ प᠅㕀ी व᠅㕀 ह ै|
All farms are rocks
सभी खते प姩떐थर ह|ै
All trees are farms
सभी व᠅㕀 खते ह|ै

Conclusions:
웦蚵नṘꥇकष脸먑 

I. Some birds are rocks
कुछ प᠅㕀ी प姩떐थर ह ै|
II. Some birds are not farms.
कुछ प᠅㕀ी खते नह饠姿 ह ै|
III. All farms are trees
सभी खते व᠅㕀 ह|ै
Options:
a) Only I follow
केवल I अनसुरण करता ह|ै
b) Only III and II follow
केवल III और II अनसुरण करता ह|ै
c) . Either I or III follows
I या III म⊏㤘 स ेकोई एक अनसुरण करत ेह홶镶
d) None follows
कोई अनसुरण नह饠姿 करता ह|ै
Correct Answer: Only I follow
केवल I अनसुरण करता ह|ै
Candidate Answer: . Either I or III follows
I या III म⊏㤘 स ेकोई एक अनसुरण करत ेह홶镶
 
Question 7. In the following question, two statements are given, followed by four conclusions. You have to consider the statements to be true even if they seem to be
at variance from commonly known facts. You have to decide which of the given conclusions, if any, follow from the given statements.
नीच ेदो कथन 좔ｩदए गए ह홶镶,िजसके बाद चार 웦蚵नṘꥇकष脸먑 좔ｩदए गए ह홶镶|आपको 좔ｩदए गए कथन좭 को सह饠姿 मानना ह ै롎फर चाह ेवह सव脸먑왁ྕव좔ｩदत त�य स ेდ씬भ呁䕚न 忾ṙय좭 न ह좭|आपको 웦蚵नण脸먑य लनेा ह ै롎क 좔ｩदए गए
웦蚵नṘꥇकष譵흺 म⊏㤘 स ेकौन­सा 웦蚵नṘꥇकष脸먑 कथन좭 का अनसुरण करता ह|ै

Statements: 



कथन:

All animals are cuddly.
सभी जानवर मलुायम ह홶镶 |
All monkeys are animals.
सभी बदंर जानवर ह홶镶 |

Conclusions:
웦蚵नṘꥇकष脸먑 

I. Some animals are cuddly.
कुछ जानवर मलुायम ह홶镶|
II. Some animals are not cuddly.
कुछ जानवर मलुायम नह饠姿 ंह홶镶|
III. All cuddly are monkeys.
सभी मलुायम बदंर ह홶镶 |
IV. No monkey is an animal.
कोई बदंर जानवर नह饠姿 ंह|ै
Options:
a) Only I follows
केवल I अनसुरण करता ह홶镶 |
b) Only II follows
केवल II अनसुरण करत ेह ै|
c) Only III follows
केवल III अनसुरण करता ह|ै
d) Only IV follows
केवल IV अनसुरण करता ह ै|
Correct Answer: Only I follows
केवल I अनसुरण करता ह홶镶 |
Candidate Answer: Only IV follows
केवल IV अनसुरण करता ह ै|
 
Question 8. Find out from amongst the four alternatives as to how the pattern would appear when the transparent sheet is folded at the dotted line.
좔ｩदए गए चार 왁ྕवकḆ겆प좭 म⊏㤘 जब पारदश奐 शीट को डॉट रखेा पर मोड़ा जाता ह ै,तो पटैन脸먑 롎कस 钧嗮कार 좔ｩदखगेा |

Options:
a) 

b) 

c) 

d) 

Correct Answer: 

Candidate Answer: 



 
Question 9. Select the odd number from the given alternatives.
좔ｩदए गए 왁ྕवकḆ겆प좭 म⊏㤘 स े왁ྕवषम सⲼ슎या को च웦蚵नए |
Options:
a) 1718
b) 2196
c) 2743
d) 3374
Correct Answer: 1718
Candidate Answer: 2196
 
Question 10. If in a certain language MEDICINE is coded as EMIDICEN, how can ANALYSIS be coded in that code?
롎कसी कूट भाषा म⊏㤘 MEDICINE को EMIDICEN के 抧瓰प म⊏㤘 कूटब䦬왼 롎कया जाता ह ै|इसी भाषा म⊏㤘 ANALYSIS को कैस ेकूटब䦬왼 롎कया जायगेा?
Options:
a) ANALYSIS
b) NALASYSI
c) ANLASYIS
d) NALAYIS
Correct Answer: NALASYSI
Candidate Answer: NALASYSI
 
Question 11. Select the odd group from the given alternatives.
좔ｩदए गए 왁ྕवकḆ겆प좭 म⊏㤘 स े왁ྕवषम समहू को च웦蚵नए |
Options:
a) A2Z27
b) D5G8
c) I9K12
d) F7Y26
Correct Answer: I9K12
Candidate Answer: I9K12
 
Question 12. From the given alternative words, select the word which cannot be formed using the letters of the given word.
좔ｩदए गए 왁ྕवकḆ겆प좭 म⊏㤘 स ेउस शⴭ垏द को च웦蚵नए जो 좔ｩदए गए शⴭ垏द के अ᠅㕀र좭 का 钧嗮योग करके, नह饠姿 ंबनाया जा सकता ह ै|

PROCRASTINATION
Options:
a) STATION
b) CARTON
c) PROTEIN
d) RASIN
Correct Answer: PROTEIN
Candidate Answer: PROTEIN
 
Question 13. A company has six managers A, B, C, D, E and F. There are two managers managing the same department. F is in the sales department. D is in the HR
department. B is not in the same department as F. E is in marketing while C is in finance.
एक क춀⌃पनी म⊏㤘 छ: 钧嗮बधंक A,B,C,D,E और F ह홶镶 | एक 왁ྕवभाग के 钧嗮बधंन के დ씬लए दो 钧嗮बधंक ह홶镶 | F, सḆ겆स 왁ྕवभाग म⊏㤘 ह ै| D, मानव ससंाधन 왁ྕवभाग म⊏㤘 ह|ै B उस 왁ྕवभाग म ेनह饠姿 ंह ैिजस 왁ྕवभाग म⊏㤘 F
ह ै| E 왁ྕवपणन 왁ྕवभाग म⊏㤘 ह ै,जब롎क C 왁ྕव姩떐त 왁ྕवभाग म⊏㤘 ह|ै

What is the department of B?
B का 왁ྕवभाग 忾ṙया ह ै?
Options:
a) HR
मानव ससंाधन
b) Finance
왁ྕव姩떐त
c) Marketing
왁ྕवपणन
d) Cannot be determined
웦蚵नधा脸먑﫧녀रत नह饠姿 ं롎कया जा सकता
Correct Answer: Cannot be determined
웦蚵नधा脸먑﫧녀रत नह饠姿 ं롎कया जा सकता
Candidate Answer: Cannot be determined
웦蚵नधा脸먑﫧녀रत नह饠姿 ं롎कया जा सकता
 



Question 14. Select the related group from the given alternatives.
좔ｩदए गए 왁ྕवकḆ겆प좭 म⊏㤘 स ेस춀⌃बि呁䕚ध姩떐त समहू को च웦蚵नए।

AEB : 64 :: CCD : ?
Options:
a) 69
b) 100
c) 121
d) 89
Correct Answer: 100
Candidate Answer: 100
 
Question 15. Pointing to a photograph of a boy a woman said, "He is the son of the only daughter of my grandmother." How is the woman related to that boy?
एक लड़के के 弇ጮच䥆熘 कፄ갮 ओर इशारा करत ेहएु एक म좔ｩहला न ेकहा "वह मरे饠姿 दाद饠姿 कፄ갮 इकलौती बटे饠姿 का बटेा ह|ै"म좔ｩहला का उस लड़के स े忾ṙया स춀⌃ब呁䕚ध ह|ै
Options:
a) Sister
ब좔ｩहन
b) Mother
माता
c) Grandmother
दाद饠姿
d) Daughter
बटे饠姿
Correct Answer: Sister
ब좔ｩहन
Candidate Answer: Mother
माता
 
Question 16. In the following question, a series is given in which one number is missing. Choose the correct alternative from the given options.
웦蚵न춀⌃ना롎कत 钧嗮शन म⊏㤘 एक 豶�खंला द饠姿 गई ह,ैिजसम⊏㤘 एक सⲼ슎या लࠐ䨯त ह홶镶|좔ｩदए गय े왁ྕवकḆ겆प좭 म⊏㤘 स ेसह饠姿 उ姩떐तर च웦蚵नए|

12, 20, 30, ?
Options:
a) 44
b) 43
c) 41
d) 42
Correct Answer: 42
Candidate Answer: 42
 
Question 17. Which of the following Venn diagrams represents the given information?
웦蚵न춀⌃न म⊏㤘 स ेकौन सा वने आरखे नीच ेद饠姿 गई सचूनाओ ंका 钧嗮웦蚵त웦蚵न弇ጮध姩떐व करता ह।ै

Birds, Peacock, Bat
प᠅㕀ी ,मोर ,चमगादड़
Options:
a) 

b) 

c) 

d) 



Correct Answer: 

Candidate Answer: 

 
Question 18. A man is facing towards West and he starts walking and stops after 10 km. He turns to his left and walks for 2 km. Again, he takes a right turn and
walks for additional 10 km. In which direction is he facing now?
एक 谁調यि忾ṙत पि럨⧀चम कፄ갮 ओर मुँह 롎कय ेहएु खड़ा ह ैऔर वह चलना 钧嗮ारभं करता ह ैतथा 10 롎कमी के बाद 鳪कता ह ै|वह अपन ेबाए ंमड़ुकर 2 롎कमी चलता ह ै| वह पनु:दाय⊏㤘 ओर मड़ुता ह ैऔर
अ웦蚵त﫧녀र忾ṙत 10 롎कमी कፄ갮 दरू饠姿 तय करता ह ै| वह अब 롎कस 좔ｩदशा म⊏㤘 मुँह 롎कय ेखड़ा ह ै?
Options:
a) North
उ姩떐तर
b) South
द龞Ῑ᠅㕀ण
c) East
पवू脸먑
d) West
पि럨⧀चम
Correct Answer: West
पि럨⧀चम
Candidate Answer: West
पि럨⧀चम
 
Question 19. The set of alphabets below follows a particular pattern. Which option does not follow the pattern?
नीच े좔ｩदया गया अ᠅㕀र좭 का सटै एक 왁ྕवდ씬शṘꥇट पटैन脸먑 का अनसुरण करता ह|ै웦蚵न춀⌃ना롎कत म⊏㤘 स ेकौन सा 왁ྕवकḆ겆प पटैन脸먑 का अनसुरण नह饠姿 ंकरता ?

Alphabet set: AY, BZ, CW, DX, ?
अ᠅㕀र좭 का सटे : AY, BZ, CW, DX, ?
Options:
a) EV
b) ET
c) ES
d) EU
Correct Answer: EU
Candidate Answer: EV
 
Question 20. Find who is the tallest if:
इनम⊏㤘 स ेसबस ेल춀⌃बा कौन ह ैय좔ｩद :

I. Hari is taller than Amit but shorter than Yash.
हर饠姿, अდ씬मत स ेल춀⌃बा ह ैपर呁䕚त ुयश स ेछोटा ह|ै
II. Shashank is shorter than Yash but taller than Alok.
शशाकं ,यश स ेछोटा ह ै,पर呁䕚त ुआलोक स ेल춀⌃बा ह|ै
III. Amit is shorter than Charu but taller than Alok.
अდ씬मत ,चा抧瓰 स ेछोटा ह ै,पर呁䕚त ुआलोक स ेल춀⌃बा ह|ै 
IV. Charu is taller than Yash.
चा抧瓰 यश स ेल춀⌃बी ह|ै 
Options:
a) Charu
चा抧瓰
b) Shashank
शशाकं
c) Yash
यश
d) Hari
हर饠姿
Correct Answer: Charu
चा抧瓰



Candidate Answer: Hari
हर饠姿
 
Question 21. Select the odd letters from the given alternatives.
좔ｩदए गए 왁ྕवकḆ겆प좭 म⊏㤘 स े왁ྕवषम अ᠅㕀र좭 को च웦蚵नए |
Options:
a) MPR
b) HKN
c) PSV
d) DGI
Correct Answer: MPR
Candidate Answer: MPR
 
Question 22. Select the related letters from the given alternatives.
좔ｩदए गए 왁ྕवकḆ겆प좭 म⊏㤘 स ेस춀⌃बि呁䕚ध姩떐त अ᠅㕀र좭 को च웦蚵नए।

BFJ : DHL :: GKO : ?
Options:
a) HJL
b) HLP
c) IMQ
d) IJK
Correct Answer: IMQ
Candidate Answer: IMQ
 
Question 23. Select the related word from the given alternatives.
좔ｩदए गए 왁ྕवकḆ겆प좭 म⊏㤘 स ेस춀⌃बि呁䕚ध姩떐त शⴭ垏द को च웦蚵नए।

Laugh : Giggle :: Walk : ?
हसँना : ㈪ꉘखल㈪ꉘखलाना : : चलना : ?
Options:
a) Run
दौड़ना
b) Race
दौड़
c) Saunter
सरै
d) Stride
ल춀⌃ब ेकदम
Correct Answer: Saunter
सरै
Candidate Answer: Saunter
सरै
 
Question 24. In the following question, a series is given in which one word is missing. Choose the correct alternative from the given options.
웦蚵न춀⌃ना롎कत 钧嗮शन म⊏㤘 एक 豶�खंला द饠姿 गई ह,ैिजसम⊏㤘 एक शⴭ垏द लࠐ䨯त ह홶镶| 좔ｩदए गय े왁ྕवकḆ겆प좭 म⊏㤘 स ेसह饠姿 उ姩떐तर च웦蚵नए|

Triangle, Quadrilateral, Pentagon, Hexagon, ?
? , 䥆熘भजु , चतभु脸ु먑ज ,पचंकोण ,शतकोणܐ
Options:
a) Heptagon
सࠐ䨯तभजु
b) Octagon
अṘꥇटभजु
c) Enneagon
नौभजु
d) Decagon
दसभजु
Correct Answer: Heptagon
सࠐ䨯तभजु
Candidate Answer: Octagon
अṘꥇटभजु
 
Question 25. Find the answer figure which will complete the pattern of the question figure.
钧嗮शन आकृ웦蚵त म⊏㤘 पटैन脸먑 को परूा करन ेवाल饠姿 उ姩떐तर आकृ웦蚵त ⦥숔ात कፄ갮िजय े|



Options:
a) 

b) 

c) 

d) 

Correct Answer: 

Candidate Answer: 

 
Question 26. Find out from amongst the four alternatives as to how the pattern would appear when the transparent sheet is folded at the dotted line.
좔ｩदए गए चार 왁ྕवकḆ겆प좭 म⊏㤘 जब पारदश奐 शीट को डॉट रखेा पर मोड़ा जाता ह ै,तो पटैन脸먑 롎कस 钧嗮कार 좔ｩदखगेा |

Options:
a) 

b) 

c) 

d) 

Correct Answer: 



Candidate Answer: 

 
Question 27. In the following question, choose the embedded/hidden figure given in the question figure from the answer figures.
웦蚵न춀⌃ना롎कत 钧嗮शन म⊏㤘 钧嗮शन आकृ웦蚵त म⊏㤘 द饠姿 गई 웦蚵न좔ｩहत आकृ웦蚵त को उ姩떐तर आकृ웦蚵त स ेच웦蚵नए|

Options:
a) 

b) 

c) 

d) 

Correct Answer: 

Candidate Answer: 

 
Question 28. In a certain code 'bir le nac' means 'green and tasty. ' pi nac hor' means 'tomato is green' and 'la bir hor' means 'food is tasty'. Which of the following
means 'tomato is tasty' in that code?
롎कसी कूट भाषा म⊏㤘 'bir le nac' का अथ脸먑 ह ै'green and tasty'| 'pi nac hor' का अथ脸먑 ह ै'tomato is green' , एव ं'la bir hor' का अथ脸먑 ह ै'food is tasty'| इसी कूट म⊏㤘 'tomato is tasty' का अथ脸먑
忾ṙया होगा ?
Options:
a) bir le hor
b) pi hor bir
c) hor bir pic
d) bic nac hor
Correct Answer: pi hor bir
Candidate Answer: bir le hor
 
Question 29. In the following question, a series is in which one or more alphabet is missing. Choose the correct alternative from the given options.
웦蚵न춀⌃ना롎कत 钧嗮शन म⊏㤘 एक 豶�खंला द饠姿 गई ह,ैिजसम⊏㤘 एक या एक स ेअ弇ጮधक वण脸먑 लࠐ䨯त ह홶镶|좔ｩदए गय े왁ྕवकḆ겆प좭 म⊏㤘 स ेसह饠姿 उ姩떐तर च웦蚵नए|

A, M, B, L, C, N, D, O, E, K, F, J, ?, ?, ?, ?
Options:
a) GHHG
b) GQHP
c) GHGH
d) GPHQ
Correct Answer: GPHQ
Candidate Answer: GQHP



 
Question 30. Find the answer figure which will complete the pattern of the question figure.
钧嗮शन आकृ웦蚵त म⊏㤘 पटैन脸먑 को परूा करन ेवाल饠姿 उ姩떐तर आकृ웦蚵त ⦥숔ात कፄ갮िजय े|

Options:
a) 

b) 

c) 

d) 

Correct Answer: 

Candidate Answer: 

 
Question 31. Complete the series 1, 2, 3, 5, 8, ?
豶�खंला को परूा कፄ갮िजय े1, 2, 3, 5, 8, ?
Options:
a) 9
b) 11
c) 13
d) 15
Correct Answer: 13
Candidate Answer: 13
 
Question 32. In the following question, a series is in which one alphabet is missing. Choose the correct alternative from the given options.
웦蚵न춀⌃ना롎कत 钧嗮शन म⊏㤘 एक 豶�खंला द饠姿 गई ह,ैिजसम⊏㤘 एक वण脸먑 लࠐ䨯त ह홶镶|좔ｩदए गय े왁ྕवकḆ겆प좭 म⊏㤘 स ेसह饠姿 उ姩떐तर च웦蚵नए|

AA, BC, CE, DG, ?
Options:
a) EH
b) EI
c) EJ
d) FH
Correct Answer: EI
Candidate Answer: EI
 
Question 33. In the following question, if a mirror is placed on the line MN, then which answer figure is the right image of the given figure?
अगर 웦蚵न춀⌃ना롎कत 钧嗮शन म⊏㤘 रखेा MN पर एक दप脸먑ण रखा जाता ह ैतो 钧嗮शन आकृ웦蚵त कፄ갮 सह饠姿 钧嗮웦蚵तܐब춀⌃ब वाल饠姿 उ姩떐तर आकृ웦蚵त च웦蚵नए ?



Options:
a) 

b) 

c) 

d) 

Correct Answer: 

Candidate Answer: 

 
Question 34. Ravi walked 2 km towards the South, took a right turn and walked 3 km. Then he took a left turn and walked 2 km. At what distance is he now from the
starting point?
र왁ྕव 2 롎कमी द龞Ῑ᠅㕀ण कፄ갮 ओर चलता ह ैऔर दाय⊏㤘 मड़ुकर 3 롎कमी चलता ह|ै 롎फर वह बाए ंमड़ुकर और 2 롎कमी चलता ह|ै अब वह अपन े钧嗮ारდं씬भक ܐब呁䕚द ुस े롎कतनी दरू饠姿 पर ह ै?
Options:
a) 2 km
2 롎कमी
b) 5 km
5 롎कमी
c) 6 km
6 롎कमी
d) 4 km
4 롎कमी
Correct Answer: 5 km
5 롎कमी
Candidate Answer: 5 km
5 롎कमी
 
Question 35. Which of the following Venn diagrams represents the given information?
웦蚵न춀⌃न म⊏㤘 स ेकौन सा वने आरखे नीच ेद饠姿 गई सचूनाओ ंका 钧嗮웦蚵त웦蚵न弇ጮध姩떐व करता ह।ै

Building, Floor, Room
ईमारत ,तल ,कमरा
Options:
a) 

b) 

c) 



d) 

Correct Answer: 

Candidate Answer: 

 
Question 36. If 4 is added to each digit of the number 2340124 and then all the even digits are divided by 2, how many digits will retain their position when the newly
formed number is arranged in ascending order?
य좔ｩद 2340124 सⲼ슎या के 钧嗮姩떐यके अकं म⊏㤘 4 जोड़ा जाता ह ैऔर 롎फर सभी सम सⲼ슎याओ ंको 2 स े왁ྕवभािजत 롎कया जाता ह ै, तो जब नई सⲼ슎या को आरोह饠姿 ꠨齘म म⊏㤘 谁調यवि븆䱐थत 롎कया जायगेा तो 롎कतने
अकं अपनी मलू ि븆䱐थ웦蚵त म⊏㤘 ह饠姿 रह⊏㤘ग|े
Options:
a) None
कोई नह饠姿ं
b) One
एक
c) Two
दो
d) Three
तीन
Correct Answer: None
कोई नह饠姿ं
Candidate Answer: Two
दो
 
Question 37. In the following question, if a mirror is placed on the line MN, then which answer figure is the right image of the given figure?
अगर 웦蚵न춀⌃ना롎कत 钧嗮शन म⊏㤘 रखेा MN पर एक दप脸먑ण रखा जाता ह ैतो 钧嗮शन आकृ웦蚵त कፄ갮 सह饠姿 钧嗮웦蚵तܐब춀⌃ब वाल饠姿 उ姩떐तर आकृ웦蚵त च웦蚵नए ?

Options:
a) 

b) 

c) 



d) 

Correct Answer: 

Candidate Answer: 

 
Question 38. In the following question, a word is represented by only one set of number as given in any one of the alternatives. The sets of numbers given in the
alternatives are represented by two classes of alphabets as in two matrices given below. The columns and rows of Matrix I are numbered from 0 to 4 and that of
Matrix II are numbered from 5 to 9. A letter from these matrices can be represented first by its row and next by its column. Example: R can be represented by 65, 76
and S can be represented by 11, 22, etc. Similarly, you have to identify the set for the word ROUTE in the question.
웦蚵न춀⌃ना롎कत 钧嗮शन म⊏㤘 स ेएक शⴭ垏द केवल एक सⲼ슎या समहू 녴農वारा दशा脸먑या गया ह ैजसैा 롎क 왁ྕवकḆ겆प좭 म⊏㤘 स े롎कसी एक म⊏㤘 좔ｩदया गया ह|ै 왁ྕवकḆ겆प좭 म⊏㤘 좔ｩदए गए सⲼ슎या समहू अ᠅㕀र좭 को दो वग譵흺 녴農वारा दशा脸먑ए
गया ह,ैजसैा 롎क नीच े좔ｩदए गए आ谁調यहू좭 म⊏㤘 ह|ै आ谁調यहू­I के 븆䱐त춀⌃भ और पिं忾ṙत अकं 0 स े4 दशा脸먑ता ह홶镶 और आ谁調यहू­II के 5 स े9| इन आ谁調यहु좭 म⊏㤘 एक अ᠅㕀र को पहल ेउसकፄ갮 पिं忾ṙत और बाद म⊏㤘 븆䱐त춀⌃भ
सⲼ슎या 녴農वारा दशा脸먑या गया ह|ै उदाहरण के დ씬लए R को 65, 76 और S को 11, 22, इ姩떐या좔ｩद 녴農वारा 钧嗮दდ씬श脸먑त 롎कया जा सकता ह|ै इसी तरह आपको 좔ｩदए गए शⴭ垏द ROUTE के დ씬लए समहू कፄ갮 पहचान
करनी ह।ै

Options:
a) 01, 57, 75, 85, 88
b) 34, 68, 86, 67, 99
c) 40, 58, 69, 95, 55
d) 23, 56, 97, 78, 66
Correct Answer: 34, 68, 86, 67, 99
Candidate Answer: 34, 68, 86, 67, 99
 
Question 39. Select the odd word from the given alternatives.
좔ｩदए गए 왁ྕवकḆ겆प좭 म⊏㤘 स े왁ྕवषम शⴭ垏द को च웦蚵नए |
Options:
a) Impel
डकेलना
b) Trigger
श抧瓰 करना
c) Instigate
भड़काना
d) Confine
सीდ씬मत रखना
Correct Answer: Confine
सीდ씬मत रखना
Candidate Answer: Impel
डकेलना
 
Question 40. Select the odd number from the given alternatives.
좔ｩदए गए 왁ྕवकḆ겆प좭 म⊏㤘 स े왁ྕवषम सⲼ슎या को च웦蚵नए |
Options:
a) 576
b) 725
c) 864
d) 1008



Correct Answer: 725
Candidate Answer: 864
 
Question 41. Select the odd word from the given alternatives.
좔ｩदए गए 왁ྕवकḆ겆प좭 म⊏㤘 स े왁ྕवषम शⴭ垏द को च웦蚵नए |
Options:
a) Android
ए呁䕚葘偎ायडे
b) Windows
왁ྕवडंोज़
c) iOS
आई ओ एस
d) Bada
बीएडीए
Correct Answer: Bada
बीएडीए
Candidate Answer: iOS
आई ओ एस
 
Question 42. In the following question, a word is represented by only one set of number as given in any one of the alternatives. The sets of numbers given in the
alternatives are represented by two classes of alphabets as in two matrices given below. The columns and rows of Matrix I are numbered from 0 to 4 and that of
Matrix II are numbered from 5 to 9. A letter from these matrices can be represented first by its row and next by its column. Example: R can be represented by 65, 76
and S can be represented by 11, 22, etc. Similarly, you have to identify the set for the word TOAD in the question.
웦蚵न춀⌃ना롎कत 钧嗮शन म⊏㤘 स ेएक शⴭ垏द केवल एक सⲼ슎या समहू 녴農वारा दशा脸먑या गया ह ैजसैा 롎क 왁ྕवकḆ겆प좭 म⊏㤘 स े롎कसी एक म⊏㤘 좔ｩदया गया ह|ै 왁ྕवकḆ겆प좭 म⊏㤘 좔ｩदए गए सⲼ슎या समहू अ᠅㕀र좭 को दो वग譵흺 녴農वारा दशा脸먑ए
गया ह,ैजसैा 롎क नीच े좔ｩदए गए आ谁調यहू좭 म⊏㤘 ह|ै आ谁調यहू­I के 븆䱐त춀⌃भ और पिं忾ṙत अकं 0 स े4 दशा脸먑ता ह홶镶 और आ谁調यहू­II के 5 स े9| इन आ谁調यहु좭 म⊏㤘 एक अ᠅㕀र को पहल ेउसकፄ갮 पिं忾ṙत और बाद म⊏㤘 븆䱐त춀⌃भ
सⲼ슎या 녴農वारा दशा脸먑या गया ह|ै उदाहरण के დ씬लए R को 65, 76 और S को 11, 22, इ姩떐या좔ｩद 녴農वारा 钧嗮दდ씬श脸먑त 롎कया जा सकता ह|ै इसी तरह आपको 좔ｩदए गए शⴭ垏द TOAD के დ씬लए समहू कፄ갮 पहचान करनी
ह।ै

Options:
a) 95, 57, 03, 11
b) 89, 67, 42, 32
c) 56, 68, 14, 21
d) 67, 86, 31, 10
Correct Answer: 56, 68, 14, 21
Candidate Answer: 56, 68, 14, 21
 
Question 43. A company has six managers A, B, C, D, E and F. There are two managers managing the same department. F is in the sales department. D is in the HR
department. B is not in the same department as F. E is in marketing while C is in finance.
एक क춀⌃पनी म⊏㤘 छ: 钧嗮बधंक A,B,C,D,E और F ह홶镶 | एक 왁ྕवभाग के 钧嗮बधंन के დ씬लए दो 钧嗮बधंक ह홶镶 | F, सḆ겆स 왁ྕवभाग म⊏㤘 ह ै| D, मानव ससंाधन 왁ྕवभाग म⊏㤘 ह|ै B उस 왁ྕवभाग म ेनह饠姿 ंह ैिजस 왁ྕवभाग म⊏㤘 F
ह ै| E 왁ྕवपणन 왁ྕवभाग म⊏㤘 ह ै,जब롎क C 왁ྕव姩떐त 왁ྕवभाग म⊏㤘 ह|ै

If sales department has two mangers, who is the manager other than F?
य좔ｩद सḆ겆स 왁ྕवभाग म⊏㤘 दो 钧嗮बधंक ह홶镶 तो F के अ웦蚵त﫧녀र忾ṙत अ呁䕚य 钧嗮बधंक कौन ह홶镶 ?
Options:
a) D
b) C
c) B
d) A
Correct Answer: A
Candidate Answer: A
 
Question 44. Select the related word from the given alternatives.
좔ｩदए गए 왁ྕवकḆ겆प좭 म⊏㤘 स ेस춀⌃बि呁䕚ध姩떐त शⴭ垏द को च웦蚵नए।

Brinjal : Shrub :: Rice : ?
ब홶镶गन : झाड़ी : : चावल : ?

Options:



a) Herb
जड़ी बटू饠姿
b) Shrub
झाड़ी
c) Tree
पड़े
d) Grass
घास
Correct Answer: Grass
घास
Candidate Answer: Grass
घास
 
Question 45. Which of the following human eye defects is for short­sightedness, in which a person can see the near objects clearly but not far objects?
웦蚵न춀⌃न म⊏㤘 स ेकौन सा मानव �िṘꥇटदोष 웦蚵नकट �िṘꥇट दोष म ेहोता ह,ै िजसम⊏㤘 谁調यि忾ṙत पास कፄ갮 व븆䱐तओु ंको साफ़ दखे सकता ह ैल롎कन दरू कፄ갮 व븆䱐तओु ंको साफ़ नह饠姿 ंदखे सकता ह?ै
Options:
a) Myopia
웦蚵नकट �िṘꥇटदोष
b) Hypermetropia
दरू �िṘꥇटदोष
c) Presbyopia
वयोव䦬왼
d) Astigmatism
�िṘꥇटवषै춀⌃य
Correct Answer: Myopia
웦蚵नकट �िṘꥇटदोष
Candidate Answer: Myopia
웦蚵नकट �िṘꥇटदोष
 
Question 46. One which is not considered as naturally occurring greenhouse gas is:
웦蚵न춀⌃न म⊏㤘 स े롎कस े钧嗮ाकृ웦蚵तक 쨕ꃖीन हाउस गसै नह饠姿 ंमाना जाता ह?ै
Options:
a) Ethane
ईथने
b) Methane
मीथने
c) CO2

सीओ2

d) Nitrous Oxide
웦蚵न啀掣ोज़ ऑ忾ṙसाइड
Correct Answer: Ethane
ईथने

Candidate Answer: CO2

सीओ2

 
Question 47. What is PL/I ?
PL/I 忾ṙया ह?ै
Options:
a) Programme Language Due
钧嗮ो쨕ꃖाम ल홶镶掊るवजे 췱貭यू
b) Private Scale Integration
钧嗮ाइवटे 븆䱐केल इटं饠姿쨕ꃖशेन
c) Programme of Language
钧嗮ो쨕ꃖाम ऑफ़ ल홶镶掊るवजे
d) Programme Link One
钧嗮ो쨕ꃖाम დ씬लकं वन
Correct Answer: Programme of Language
钧嗮ो쨕ꃖाम ऑफ़ ल홶镶掊るवजे
Candidate Answer: Programme Language Due
钧嗮ो쨕ꃖाम ल홶镶掊るवजे 췱貭यू

 
Question 48. Who among the following is credited for designing the symbol of Indian Rupee?
भारतीय 鳪पय ेके 钧嗮तीक को 㒔悢डजाइन करन ेका 豶�ये 롎कसको जाता ह?ै



Options:
a) D. Udaya Kumar
डी. उदय कुमार
b) V. Sunil
वी. सनुील
c) Shahrukh J. Irani
शाह鳪ख ज.े ईरानी
d) Hitesh Padmashali
좔ｩहतशे प훾髜शाल饠姿
Correct Answer: D. Udaya Kumar
डी. उदय कुमार
Candidate Answer: Hitesh Padmashali
좔ｩहतशे प훾髜शाल饠姿
 
Question 49. The Indian River that flows from East to West is:
कौन सी भारतीय नद饠姿 पवू脸먑 स ेपि럨⧀चम कፄ갮 ओर बहती ह?ै
Options:
a) Ganga
गगंा
b) Kaveri
कावरे饠姿
c) Narmada
नम脸먑दा
d) Brahmaputra
児ణ▂蕾मप䥆ु熘
Correct Answer: Narmada
नम脸먑दा
Candidate Answer: Kaveri
कावरे饠姿
 
Question 50. Some points like Liberty, Equality and Fraternity in the Indian constitution are borrowed from another constitution. Which is this constitution?
भारतीय स왁ྕवधान म⊏㤘 븆䱐वत䥆ं熘ता, समानता और भाईचार ेजसै ेकुछ तक脸먑 롎कसी अ呁䕚य स왁ྕवधान स ेდ씬लए गए ह홶镶। जो स왁ྕवधान ह ै?
Options:
a) United States constitution
सयं忾ुṙत राṘꥇ啀掣 का स왁ྕवधान
b) French constitution
猎囶⊏㤘च स왁ྕवधान
c) British constitution
児ణ좔ｩटश स왁ྕवधानܐ
d) Irish constitution
आय﫧녀रश स왁ྕवधान
Correct Answer: French constitution
猎囶⊏㤘च स왁ྕवधान
Candidate Answer: United States constitution
सयं忾ुṙत राṘꥇ啀掣 का स왁ྕवधान
 
Question 51. 



Options:
a) I ­ c
II ­ b
III ­ a
IV ­ d
b) I ­ d
II ­ a
III ­ b
IV ­ d
c) I ­ c
II ­ d
III ­ a
IV ­ b
d) I ­ d
II ­ c
III ­ a
IV ­ b
Correct Answer: I ­ c
II ­ b
III ­ a
IV ­ d
Candidate Answer: I ­ c
II ­ d
III ­ a
IV ­ b
 
Question 52. Which of the following glands are major endocrine glands?
웦蚵न춀⌃न म⊏㤘 स ेकौन सी 쨕ꃖ弇ጮथया ं钧嗮मखु अतं:몋秀ावी 쨕ꃖ弇ጮथया ंह?ै
Options:
a) Only thyroid gland, parathyroid gland and adrenal glands
केवल थायरॉयड 쨕ꃖ弇ጮथ, परैाथाईरॉइड 쨕ꃖ弇ጮथ और अ弇ጮधव忾ṙक 쨕ꃖ弇ጮथ
b) Only pituitary gland, pancreas, parathyroid gland
केवल 왁ྕप䉊看यटूर饠姿 쨕ꃖ弇ጮथ, अ掊る呁䕚याशय, परैाथाईरॉइड 쨕ꃖ弇ጮथ
c) Only gastrointestinal tract and adrenal glands, pituitary gland, pancreas
केवल जठरा䥆熘 सबंधंी माग脸먑 और अ弇ጮधव忾ṙक 쨕ꃖ弇ጮथया,ं 왁ྕप䉊看यटूर饠姿 쨕ꃖ弇ጮथ, अ掊る呁䕚याशय
d) thyroid gland, parathyroid gland, pituitary gland, pancreas, gastrointestinal tract and adrenal glands
थायरॉयड 쨕ꃖ弇ጮथ, परैाथाईरॉइड 쨕ꃖ弇ጮथ, 왁ྕप䉊看यटूर饠姿 쨕ꃖ弇ጮथ, अ掊る呁䕚याशय, जठरा䥆熘 सबंधंी माग脸먑 और अ弇ጮधव忾ṙक 쨕ꃖ弇ጮथ
Correct Answer: thyroid gland, parathyroid gland, pituitary gland, pancreas, gastrointestinal tract and adrenal glands
थायरॉयड 쨕ꃖ弇ጮथ, परैाथाईरॉइड 쨕ꃖ弇ጮथ, 왁ྕप䉊看यटूर饠姿 쨕ꃖ弇ጮथ, अ掊る呁䕚याशय, जठरा䥆熘 सबंधंी माग脸먑 और अ弇ጮधव忾ṙक 쨕ꃖ弇ጮथ
Candidate Answer: thyroid gland, parathyroid gland, pituitary gland, pancreas, gastrointestinal tract and adrenal glands
थायरॉयड 쨕ꃖ弇ጮथ, परैाथाईरॉइड 쨕ꃖ弇ጮथ, 왁ྕप䉊看यटूर饠姿 쨕ꃖ弇ጮथ, अ掊る呁䕚याशय, जठरा䥆熘 सबंधंी माग脸먑 और अ弇ጮधव忾ṙक 쨕ꃖ弇ጮथ
 
Question 53. Which of the following colourless mineral comprising of 27% of our bones helps in detoxing the human body?
हमार饠姿 ह췱貭㒔悢डय좭 म⊏㤘 27% शाდ씬मल ऐसा कौन सा रगंह饠姿न ख웦蚵नज ह ैजो मानव शर饠姿र को डटेोि忾ṙसगं म⊏㤘 मदद करता ह?ै
Options:
a) Calcium
कैिḆ겆शयम
b) Sugar
चीनी
c) Rock salt
स⊏㤘धा नमक
d) Iron
लौह
Correct Answer: Rock salt
स⊏㤘धा नमक
Candidate Answer: Calcium
कैिḆ겆शयम
 
Question 54. Who was the first sports person to win Bharat Ratna?
भारत र姩떐न जीतन ेवाला पहला ㈪ꉘखलाडी कौन था?
Options:
a) Viswanathan Annand



왁ྕव븆䱐वानाथ आनदं
b) Sachin Tendulkar
स弇ጮचन त⊏㤘दलुकर
c) Abhinav Bindra
अდ씬भनव ܐब葘偎ा
d) Dhyan Chand
摒ᰪयानचदं
Correct Answer: Sachin Tendulkar
स弇ጮचन त⊏㤘दलुकर
Candidate Answer: Sachin Tendulkar
स弇ጮचन त⊏㤘दलुकर
 
Question 55. In the absence of the President and Vice­President, who has the power to act as the President of India?
राṘꥇ啀掣प웦蚵त और 钧嗮धानम䥆熘ी कፄ갮 अनपुि븆䱐थ웦蚵त म⊏㤘, राṘꥇ啀掣प웦蚵त के 抧瓰प म⊏㤘 काय脸먑 करन ेकፄ갮 शि忾ṙत 롎कसके पास होती ह?ै
Options:
a) Auditor General of India
भारत का महालखेा पर饠姿᠅㕀क
b) Speaker of Lok Sabha
लोक सभा का अ摒ᰪय᠅㕀
c) Chief Justice of India
भारत का मⲼ슎य 呁䕚यायाधीश
d) Senior most Governor of a State
롎कसी रा⨞蠤य का व﫧녀रṘꥇठ रा⨞蠤यपाल
Correct Answer: Chief Justice of India
भारत का मⲼ슎य 呁䕚यायाधीश
Candidate Answer: Chief Justice of India
भारत का मⲼ슎य 呁䕚यायाधीश
 
Question 56. Which Mughal emperor built 'Biwi ka Maqbara' in memory of his mother, Dilras Banu Begum, resembling Taj Mahal?
웦蚵न춀⌃न म⊏㤘 स े롎कस मग़ुल स蔔ाट न ेअपनी मा,ँ 좔ｩदलरास बानो बगेम कፄ갮 याद म⊏㤘 ताजमहल कፄ갮 आकृ웦蚵त जसैा "बीबी का मकबरा" बनाया था?
Options:
a) Aurangzeb
औरग़ंज़बे
b) Azam Shah
अज़म शाह
c) Bahadur Shah II
बहादरु शाह II
d) Akbar Shah II
अकबर शाह II
Correct Answer: Azam Shah
अज़म शाह
Candidate Answer: Bahadur Shah II
बहादरु शाह II
 
Question 57. Name the chemical which was used as a component of poison gas during World War­ I and does not occur naturally on Earth as an element?
웦蚵न춀⌃न म⊏㤘 स ेकौन स ेरसायन को पहल े왁ྕव럨⧀व य䦬ु왼 के दौरान जहर饠姿ल饠姿 गसै के एक घटक के 抧瓰प म⊏㤘 इ븆䱐तमेाल 롎कया गया था और जो एक त姩떐व के 抧瓰प म⊏㤘 प�ृवी पर 钧嗮ाकृ웦蚵तक 抧瓰प स ेउ姩떐प呁䕚न नह饠姿 ंथा?
Options:
a) Bromine
児ణोდ씬मन
b) Mercury
मरकर饠姿
c) Gallium
गდ씬लयम
d) Selenium
सले웦蚵नयम
Correct Answer: Bromine
児ణोდ씬मन
Candidate Answer: Mercury
मरकर饠姿
 
Question 58. What is called Sagarmāthā in Nepal and Chomolungma in Tibet?
वह 忾ṙया ह ैिजस ेनपेाल म⊏㤘 सागरमाथा और 웦蚵तⴭ垏बत म⊏㤘 चोमोलुं掊るमा कहा जाता ह?ै
Options:
a) Nanda Devi



नदंा दवेी
b) Mount Everest
एवरे븆े䱐ट
c) Kanchenjunga
कंचनजगंा
d) Kamet
कामटे

Correct Answer: Mount Everest
एवरे븆े䱐ट
Candidate Answer: Mount Everest
एवरे븆े䱐ट
 
Question 59. Along which country's coast does the El­Nino flow?
롎कस दशे के तट के साथ एल­नीनो का 钧嗮वाह होता ह?ै
Options:
a) Sri Lanka
豶�ीलकंा
b) China
चीन
c) Peru
प抧े瓰
d) Japan
जापान
Correct Answer: Peru
प抧े瓰
Candidate Answer: Peru
प抧े瓰
 
Question 60. In Ribonucleic Acid (RNA), which nitrogenous base is not present among the following?
बो呁䕚य忾ूṙल饠姿क एდ씬सड (आरएनए) म⊏㤘, 웦蚵न춀⌃न म⊏㤘 स ेकौन सा नाइ啀掣ोजनय忾ुṙत ᠅㕀ार उपि븆䱐थत नह饠姿 ंहोता ह?ै
Options:
a) Cytosine
साइटोसीन
b) Adenine
ए㒔悢डनीन
c) Thymine
थाइमीन
d) Guanine
गआुनीन
Correct Answer: Thymine
थाइमीन
Candidate Answer: Guanine
गआुनीन
 
Question 61. Which date is the shortest day and longest night observed?
कौन सी 웦蚵त弇ጮथ को सबस ेछोट े좔ｩदन और सबस ेल춀⌃बी रात के 抧瓰प म⊏㤘 जाना जाता ह?ै
Options:
a) 23rd September
23 დ씬सत춀⌃बर
b) 3rd January
3 जनवर饠姿
c) 22nd December
22 좔ｩदस춀⌃बर
d) 24th September
24 დ씬सत춀⌃बर

Correct Answer: 22nd December
22 좔ｩदस춀⌃बर

Candidate Answer: 23rd September
23 დ씬सत춀⌃बर
 
Question 62. The first Chief Election Commissioner of India was: 
भारत के सबस ेपहल ेमⲼ슎य चनुाव आय忾ुṙत कौन थ?े



Options:
a) Sukumar Sen
सकुुमार सने
b) K.V.K. Sundaram
के.वी.के. स呁䕚दरम
c) Nagendra Singh
नाग呁े䕚葘偎 დ씬सहं
d) M. S. Gill
एम.एस. 弇ጮगल
Correct Answer: Sukumar Sen
सकुुमार सने
Candidate Answer: K.V.K. Sundaram
के.वी.के. स呁䕚दरम
 
Question 63. Name the region which lies beyond the orbit of Neptune? It contains many comets, asteroids, and other small bodies made largely of ice.
उस ᠅㕀䥆熘 का नाम बताए ंजो नेࠐ䨯匙Იयनू के क᠅㕀 स ेपर ेह?ै इसम⊏㤘 बड़ी मा䥆熘ा म⊏㤘 बफ脸먑 स ेबन ेकई धमूकेत,ु ᠅㕀葘偎쨕ꃖह, और अ呁䕚य छोट ेकण脸먑 शाდ씬मल होत ेह홶镶?
Options:
a) Kuiper belt
कुइपर बḆे겆ट
b) Asteroid belt
ए븆䱐टरेोइड बḆे겆ट
c) Galactic core
गलैिे忾ṙटक कोर
d) Milky way
დ씬मḆ겆कፄ갮 वे
Correct Answer: Kuiper belt
कुइपर बḆे겆ट
Candidate Answer: Kuiper belt
कुइपर बḆे겆ट
 
Question 64. Which among the following is not a tributary of Ganga?
웦蚵न춀⌃न म⊏㤘 स ेकौन­सी नद饠姿 गगंा कፄ갮 सहायक न좔ｩदय좭 म⊏㤘 स ेनह饠姿 ंह?ै
Options:
a) Gomti
गोमती
b) Damodar
दामोदर
c) Kosi
कोसी
d) Satluj
सतलजु
Correct Answer: Satluj
सतलजु
Candidate Answer: Satluj
सतलजु
 
Question 65. Which of the following species is officially declared as a critically endangered species in India by International Union for the Conservation of Nature
(IUCN)?
अतंरा脸먑Ṙꥇ啀掣饠姿य 钧嗮कृ웦蚵त सरं᠅㕀ण सघं 녴農वारा 웦蚵न춀⌃न म⊏㤘 स े롎कस 钧嗮जा웦蚵त को अ弇ጮधका﫧녀रक तौर पर भारत म⊏㤘 एक गभंीर 抧瓰प स ेलࠐ䨯त钧嗮ाय 钧嗮जा웦蚵तय좭 के 抧瓰प म⊏㤘 घो왁ྕषत 롎कया गया ह?ै
Options:
a) Bengal Tiger
बगंाल बाघ
b) Mugger Crocodile
मगर मगरम匙Იछ
c) Eagle Owl
उḆ겆लू
d) Indian Vulture
भारतीय 弇ጮग䦬왼
Correct Answer: Indian Vulture
भारतीय 弇ጮग䦬왼
Candidate Answer: Indian Vulture
भारतीय 弇ጮग䦬왼
 
Question 66. Which alloy is commonly used in orthodontics for wires and brackets that connect the teeth?



웦蚵न춀⌃न म⊏㤘 स ेकौन सी დ씬म豶� धात ुका 钧嗮योग आमतौर पर तार좭 और 児ణकैे䉊看स के დ씬लए ऑथ脸먑डाि呁䕚ट忾ṙस म⊏㤘 롎कया जाता ह ैजो दातं좭 को जोड़ता ह?ै
Options:
a) Austenite
ऑ븆䱐टनेाइट
b) Nitinol
웦蚵न좔ｩटनोल
c) Alnico
एल웦蚵नको
d) Nichrome
웦蚵न꠨齘ोम

Correct Answer: Nitinol
웦蚵न좔ｩटनोल
Candidate Answer: Nitinol
웦蚵न좔ｩटनोल
 
Question 67. Which of the following was the only cricketer who joined Indian National Congress and contested 2014 Lok Sabha election from Phulpur, Uttar Pradesh?
웦蚵न춀⌃न म⊏㤘 स ेकौन सा इकलौता 롎꠨齘केटर ह ैिजसन ेभारतीय राṘꥇ啀掣饠姿य का쨕ꃖसे म⊏㤘 फूलपरु उ姩떐तर 钧嗮दशे स े2014 लोक सभा का चनुाव लड़ा ?
Options:
a) Mohammad Kaif
मोह춀⌃मद कैफ
b) Sachin Tendulkar
स弇ጮचन त⊏㤘दलुकर
c) Mohammad Azharuddin
मोह춀⌃मद अजह鳪涞徸ीन
d) Kapil Dev
क왁ྕपल दवे
Correct Answer: Mohammad Kaif
मोह춀⌃मद कैफ
Candidate Answer: Mohammad Kaif
मोह춀⌃मद कैफ
 
Question 68. Name the city which is also referred as the "Gateway to south India"?
'द龞Ῑ᠅㕀ण भारत के 钧嗮वशे 녴農वार' के 抧瓰प म⊏㤘 롎कस शहर को सबंो弇ጮधत 롎कया जाता ह?ै
Options:
a) Mumbai
मुंबई
b) Chennai
च呁䕚नई
c) Hyderabad
हदैराबाद
d) Rameshwaram
रामशेवरम
Correct Answer: Chennai
च呁䕚नई
Candidate Answer: Chennai
च呁䕚नई
 
Question 69. Which of the following types of plants have lignified tissues for supplying water and minerals to the different parts of the plant?
웦蚵न춀⌃न म⊏㤘 स े롎कस 钧嗮कार के पौध ेम⊏㤘 पौध ेके 왁ྕवდ씬भ呁䕚न भाग좭 म⊏㤘 जल और ख웦蚵नज कፄ갮 आप웦ू蚵त脸먑 करन ेके დ씬लए काṘꥇठ뿭덭य ऊतक होत ेह홶镶?
Options:
a) Herbaceous plants
शाकፄ갮य पौधे
b) Non­vascular plants
गरै­सवंहनी पौधे
c) Succulent plants
रसदार पौधे
d) Vascular plants
सवंहनी पौधे
Correct Answer: Vascular plants
सवंहनी पौधे
Candidate Answer: Herbaceous plants
शाकፄ갮य पौधे
 



Question 70. 10 Kg of wheat priced at Rs. 8 is mixed with 15 kg of wheat priced at Rs. 10. What is the average price of whole mixture?
Rs. 8 कፄ갮मत वाल饠姿 10 롎कलो쨕ꃖाम गहेूं को Rs.10 वाल饠姿 15 롎कलो गहेूं के साथ დ씬मलाया जाता ह|ै स춀⌃पणू脸먑 დ씬म豶�ण कፄ갮 औसत कፄ갮मत 롎कतनी होगी?
Options:
a) Rs. 9.5/ kg
Rs. 9.5/ 롎कलो
b) Rs. 9.2/ kg
Rs. 9.2/ 롎कलो
c) Rs. 7.5/ kg
Rs. 7.5/ 롎कलो
d) Rs. 8.5/ kg
Rs. 8.5/ 롎कलो
Correct Answer: Rs. 9.2/ kg
Rs. 9.2/ 롎कलो
Candidate Answer: Rs. 8.5/ kg
Rs. 8.5/ 롎कलो
 
Question 71. Amit received a discount of 20 % on an item which was sold at Rs. 1600. What was the marked price of the item?
अდ씬मत को 롎कसी व븆䱐त ुपर 20% कፄ갮 छूट 钧嗮ाࠐ䨯त होती ह ै,िजस ेRs. 1600 म⊏㤘 बचेा गया| व븆䱐त ुका अ롎कत मḆ겆य 忾ṙया ह ै?
Options:
a) Rs. 2000
b) Rs. 1680
c) Rs. 2200
d) Rs. 1280
Correct Answer: Rs. 2000
Candidate Answer: Rs. 2000
 
Question 72. In the following pie charts percentage of student studied A,B,C and D in year 2014 and 2015 are shown.
웦蚵न춀⌃ना롎कत पाई चाट譵흺 म⊏㤘 वष脸먑 2014 और 2015 ,ए A,B,C और D का अ摒ᰪययन करन ेवाल े왁ྕव녴農या弇ጮथ脸먑य좭 कፄ갮 钧嗮웦蚵तशतता द饠姿 गई ह ै|

Total students in year 2014 and year 2015 are 3600 and 4000 respectively.
वष脸먑 2014 और 2015 म⊏㤘 कुल 왁ྕव녴農याथ奐 ꠨齘मशः 3600 और 4000 ह홶镶|

What is the ratio of number of students who studied subject A and B in year 2014 and the number of students who studied subject A and D in year 2015.
वष脸먑 2014 왁ྕवषय A और B पढ़न ेवाल े왁ྕव녴農या弇ጮथ脸먑य좭 कፄ갮 कुल सⲼ슎या एव ंवष脸먑 2015 म⊏㤘 왁ྕवषय A और D पढन ेवाल े왁ྕव녴農या弇ጮथ脸먑य좭 कፄ갮 सⲼ슎या का अनपुात 忾ṙया ह?ै
Options:
a) 99:80
b) 9:10
c) 63:80
d) 63:59
Correct Answer: 63:80
Candidate Answer: 63:80
 
Question 73. In the following pie charts percentage of student studied A,B,C and D in year 2014 and 2015 are shown.
웦蚵न춀⌃ना롎कत पाई चाट譵흺 म⊏㤘 वष脸먑 2014 और 2015 ,ए A,B,C और D का अ摒ᰪययन करन ेवाल े왁ྕव녴農या弇ጮथ脸먑य좭 कፄ갮 钧嗮웦蚵तशतता द饠姿 गई ह ै|



Total students in year 2014 and year 2015 are 3600 and 4000 respectively.
वष脸먑 2014 और 2015 म⊏㤘 कुल 왁ྕव녴農याथ奐 ꠨齘मशः 3600 और 4000 ह홶镶|

How many students studied subject A and C in year 2014 and 2015 together?
वष脸먑 2014 और 2015 म⊏㤘 왁ྕवषय A और C पढन ेवाल े왁ྕव녴農या弇ጮथ脸먑य좭 कፄ갮 कुल सⲼ슎या 롎कतनी ह?ै
Options:
a) 4400
b) 4200
c) 2600
d) 1800
Correct Answer: 4400
Candidate Answer: 2600
 
Question 74. Following is a data regarding export and import of a company over the years. Answer the question given below.
웦蚵न춀⌃नდ씬ल㈪ꉘखत आकंडा 왁ྕवगत वष譵흺 म⊏㤘 एक कंपनी के आयात और 웦蚵नया脸먑त को दशा脸먑ता ह ै| नीच े좔ｩदए गए 钧嗮럨⧀न좭 के उ姩떐तर द⊏㤘|

In which year the difference between the imports and exports was minimum?
롎कस वष脸먑 आयात और 웦蚵नया脸먑त के बीच का अतंर सबस ेकम था ?
Options:
a) 2009
b) 2014
c) 2010
d) 2012
Correct Answer: 2010
Candidate Answer: 2010
 
Question 75. Rastogi and Gupta can fix an AC in 3 hours working together at their respective constant rates. If Rastogi doubles his speed, then both can fix the AC in
2 hours working together at their respective rates. How long does it take Rastogi to fix the AC alone?
र븆䱐तोगी और गࠐ䨯ता अपनी ि븆䱐थर दर좭 पर साथ काम करत ेहएु 3 घटं좭 म⊏㤘 एक एसी लगा सकत ेह홶镶 | य좔ｩद र븆䱐तोगी अपनी ग웦蚵त दोगनुी कर द ेतो दोन좭 დ씬मलकर अपनी दर좭 पर काम करत ेहएु 2 घटं ेम⊏㤘 एक



एसी लगा सकत ेह홶镶 | र븆䱐तोगी को अकेल ेएक एसी लगान ेम⊏㤘 롎कतना समय लगगेा?
Options:
a) 3 hrs
3 घटंे
b) 2 hrs
2 घटंे
c) 6 hrs
6 घटंे
d) 1/2 hr
1/2 घटंा
Correct Answer: 6 hrs
6 घटंे
Candidate Answer: 6 hrs
6 घटंे
 
Question 76. What is least possible number when it is divided by 13 leaves 8 and when divided by 7 leaves remainder 6?
वह छोट饠姿 स ेछोट饠姿 सभंा왁ྕवत सⲼ슎या 忾ṙया ह ैिजस े13 स ेभाग दने ेपर 8 शषे बचता ह ैऔर 7 स ेभाग दने ेपर 6 शषे बचता ह ै?
Options:
a) 38
b) 34
c) 40
d) 41
Correct Answer: 34
Candidate Answer: 34
 
Question 77. Following is a data regarding export and import of a company over the years. Answer the question given below.
웦蚵न춀⌃नდ씬ल㈪ꉘखत आकंडा 왁ྕवगत वष譵흺 म⊏㤘 एक कंपनी के आयात और 웦蚵नया脸먑त को दशा脸먑ता ह ै| नीच े좔ｩदए गए 钧嗮럨⧀न좭 के उ姩떐तर द⊏㤘|

What was the percentage decline in the value of exports from 2010 to 2011?
2010 स े2011 के बीच हएु 웦蚵नया脸먑त म⊏㤘 롎कतन े钧嗮웦蚵तशत कፄ갮 弇ጮगरावट हईु ?



Options:
a) 30%
b) 17%
c) 25%
d) 3%
Correct Answer: 30%
Candidate Answer: 30%
 
Question 78. Following is a data regarding export and import of a company over the years. Answer the question given below.
웦蚵न춀⌃नდ씬ल㈪ꉘखत आकंडा 왁ྕवगत वष譵흺 म⊏㤘 एक कंपनी के आयात और 웦蚵नया脸먑त को दशा脸먑ता ह ै| नीच े좔ｩदए गए 钧嗮럨⧀न좭 के उ姩떐तर द⊏㤘|

What was the percentage increase in imports from year 2011 to 2012?
आयात म⊏㤘 वष脸먑 2011 स ेवष脸먑 2012 म⊏㤘 롎कतन े钧嗮웦蚵तशत कፄ갮 व왁ྕ䦬왼 हईु ?
Options:
a) 25%
b) 40%
c) 20%
d) 50%
Correct Answer: 40%
Candidate Answer: 40%
 
Question 79. There would be a loss of 10% if an article is sold for Rs. 43.20. At what price should it be sold to gain 10%?
य좔ｩद 롎कसी व븆䱐त ुको Rs. 43.20 पर बचेा जाय ेतो 10 钧嗮웦蚵तशत कፄ갮 हा웦蚵न होगी| उस े롎कतन ेम⊏㤘 बचेा जाय े롎क उस े10 钧嗮웦蚵तशत का लाभ हो ?
Options:
a) Rs. 48.80
b) Rs. 52.80
c) Rs. 56.20
d) Rs. 56.80
Correct Answer: Rs. 52.80
Candidate Answer: Rs. 48.80



 
Question 80. The average age of a family of 6 members 3 years ago was 25 years. Meanwhile a child was adopted in this family and still the average age of the
whole family is same today. The present age of the child is?
6 सद븆䱐य좭 वाल ेएक प﫧녀रवार के सद븆䱐य좭 कፄ갮 औसत आय ु3 वष脸먑 पहल े25 वष脸먑 थी| इसी दौरान प﫧녀रवार न ेएक ब匙Იच ेको अपनाया और वत脸먑मान म⊏㤘 प﫧녀रवार कፄ갮 औसत आय ुउतनी ह饠姿 ह ैिजतनी 3 वषा脸먑 पवू脸먑
थी | तो ब匙Იच ेकፄ갮 वत脸먑मान आय ुह:ै

Options:
a) 8 years
8 वष脸먑
b) 7 years
7 वष脸먑
c) 6 years
6 वष脸먑
d) 5 years
5 वष脸먑
Correct Answer: 7 years
7 वष脸먑
Candidate Answer: 7 years
7 वष脸먑
 
Question 81. What is the discount allowed if a product is sold at Rs. 400 instead of Rs. 500?
य좔ｩद 롎कसी व븆䱐त ुको Rs. 500 कፄ갮 बजाय ेRs. 400 म⊏㤘 बचेा जाता ह,ै तो 롎कतनी छूट द饠姿 गई ह ै?
Options:
a) 14.30%
b) 20%
c) 15%
d) 80%
Correct Answer: 20%
Candidate Answer: 20%
 
Question 82. The selling price of 8 articles is same as the cost price of 10 articles. What is profit %?
8 व븆䱐तओु ंका 왁ྕव꠨齘य मḆ겆य 10 व븆䱐तओु ंके ꠨齘य मḆ겆य के बराबर ह ै| लाभ 钧嗮웦蚵तशत 롎कतना ह?ै
Options:
a) 25%
b) 20%
c) 22%
d) 33%
Correct Answer: 25%
Candidate Answer: 20%
 
Question 83. Following is a data regarding export and import of a company over the years. Answer the question given below.
웦蚵न춀⌃नდ씬ल㈪ꉘखत आकंडा 왁ྕवगत वष譵흺 म⊏㤘 एक कंपनी के आयात और 웦蚵नया脸먑त को दशा脸먑ता ह ै| नीच े좔ｩदए गए 钧嗮럨⧀न좭 के उ姩떐तर द⊏㤘|



How much percentage is the average value of imports from 2012 to 2014 of the average value of exports from the year 2009 to 2012?
वष脸먑 2012 स े2014 तक का औसत आयात, वष脸먑 2009 स े2012 के 웦蚵नया脸먑त का 롎कतना 钧嗮웦蚵तशत ह:ै
Options:
a) 95%
b) 125%
c) 121%
d) 90%
Correct Answer: 121%
Candidate Answer: 121%
 
Question 84. A sum of Rs. 5324/­ is accumulated in 3 years at 10% compound interest. What is the original amount.
10% च꠨齘वत奐 ⴭ垏याज पर 3 वष脸먑 म⊏㤘 कोई राდ씬श Rs. 5324 हो जाती ह|ै मलू राდ씬श 롎कतनी ह ै?
Options:
a) Rs. 2000
b) Rs. 4000
c) Rs. 6000
d) Rs. 3000
Correct Answer: Rs. 4000
Candidate Answer: Rs. 3000
 
Question 85. The digit at Hundred's place value of 17! Is
17! म⊏㤘 सकैड़ ेके 븆䱐थान पर कोन सा अकं ह ै?
Options:
a) 1
b) 0
c) 2
d) 7
Correct Answer: 0
Candidate Answer: 1
 
Question 86. Following is a data regarding export and import of a company over the years. Answer the question given below.
웦蚵न춀⌃नდ씬ल㈪ꉘखत आकंडा 왁ྕवगत वष譵흺 म⊏㤘 एक कंपनी के आयात और 웦蚵नया脸먑त को दशा脸먑ता ह ै| नीच े좔ｩदए गए 钧嗮럨⧀न좭 के उ姩떐तर द⊏㤘|



The value of imports in year 2011 was what percentage (approximate) of the average value of exports in the years 2009, 2010 and 2011?
वष脸먑 2009, 2010 और 2011 म⊏㤘 हएु 웦蚵नया脸먑त के औसत का लगभग 롎कतना 钧嗮웦蚵तशत वष脸먑 2011का आयात ह:ै

Options:
a) 40%
b) 135%
c) 43%
d) 130%
Correct Answer: 130%
Candidate Answer: 43%
 
Question 87. A' can finish a work in 10 days. The efficiency of 'A' is 20% less than 'B'. In how many days B will finish the same work?
'A' 롎कसी काय脸먑 को 10 좔ｩदन좭 म⊏㤘 समाࠐ䨯त कर सकता ह|ै 'A' कፄ갮 ᠅㕀मता 'B' स े20% कम ह ै|'B' उसी काय脸먑 को 롎कतन े좔ｩदन좭 म⊏㤘 करगेा?
Options:
a) 8.5 days
8.5 좔ｩदन
b) 12.3 days
12.3 좔ｩदन
c) 8 days
8 좔ｩदन
d) 7.5 days
7.5 좔ｩदन
Correct Answer: 8 days
8 좔ｩदन
Candidate Answer: 8 days
8 좔ｩदन



 

 


